X 0 2 7 9

g(x) -3 -4 -1 -2

g'(x) 4 -2 -8 5

1. Selected values of a twice differentiable function, g(x), and its derivative are shown above.
Consider the differentiable function h, defined by h(x) = secx g(x). Find h'(0).

f & N\ b » ol
A. 0 SeC Y Aanx @@D ¥ Sexly (u))
s cer (0) hm[c)(«s) r sec(®) ()
4 o . A
- I Sialv) . o /L/‘
D. undefined ~3 ok m)w\' 1 &0

¢ +"(>@

2. What is the slope of the line tangentto y = 3Inx — 2 atx =27
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3. Which of the following statements is true for the function f(x) defined below?
_ (5x2—8x forx<1
f(x)—{lnx—?) forx>1
AR IS
B. There is a removable discontinuity at x = 1.

C. f(x) is continuous and differentiable at x = 1.

Ms but not differentiable at x = 1./
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4. The graph of f(x) is shown for 0 < x < 4. Put the following in order from least to greatest.
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C. v, I, 1,1

D. v, 1,1, 1

5. Line Lis tangent to y = 5x2 4 8x and parallel to 12x + y = 4. What is the y-intercept of line
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